Quiz: AgMag Winter 2019-2020

1.

There are six steps in an agriculture system: Producing, processing,
distributing, marketing, consuming, and-

a. Recycling

b. Selling

c. Disposing

What is the part of a potato that determines if it is a good source for
processing or not?

a. Water

b. Sugar

c. Vitamin B

In a market economy, prices for goods and services are set by:
a. The government
b. Stores and service providers
c. Supply and demand

What does it mean when people like farmers and consumers are
“‘interdependent”?
a. They need each other and contribute to each other’s wellbeing
b. Farmers need other farmers and consumers need other consumers
c. Each group gets along fine on their own

The Dust Bowl of the 1930s was caused by:
a. Drought and wind erosion of soil
b. Hot, humid weather
c. Floods and tornadoes

How many people are living in the world today?

a. 7.3 billion
b. 3.5 billion
c. 12.1 billion

By 1950, more Minnesotans lived in cities than on farms for the first time
ever.

a. False

b. True

Which two states lead the U.S. in both corn and soybean production?
a. South Dakota and North Dakota
b. lowa and lllinois
c. Nebraska and Indiana



